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Note : This paper is of seventy (70) marks containing
three (3) sections A, B and C. Learners are required
to attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (&€ IR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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1. Calculate arithmetic mean and mode of the following
series :
Class Interval Frequency
0—10 4
10—20 6
20—30 10
30—40 3
40—50 2
frafeiad ARl & AR AR d YRIse 9
DI
0—10 4
10—20 6
20—30 10
30—40 3
40—50 2
2. “The Science of Statistics, then, is a most useful
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servant but only of Great value to those who
understand its proper use.” Comment on the above
statement and discuss the limitations of Statistics.
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3. Below are given figures of sugar production of a sugar
factory :
Year Production
2009 80
2010 90
2011 92
2012 83
2013 94
2014 99
2015 92
Fit a straight line trend by the method of least squares.
U% A A @ I Sared @ effde A el €
Ll JeuTe
2009 80
2010 90
2011 92
2012 83
2013 94
2014 99
2015 92
<gE 1 A | FoREr SuAlT S ST |
4. Explain the uses of index number. What points should
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be taken into consideration in the construction of index
number ?
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :
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questions of five (05) marks each. Learners are
required to answer six (06) questions only.
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‘Statistics is the Science of counting.” Explain.
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Discuss the importance of Statistics.
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What is the advantages of census method ?
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What is meant by ‘Central Tendency’ ?
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Discuss the main methods of computing dispersion.
SUFHRT AU DT Y Wferdl qarsy |

What is Index Number ?

[Adid 8 ?

What is correlation ? Name the different measures of
correlation.
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Discuss briefly the practical utility of time series
analysis.
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Section-C / GUvs—1T
(Objective Type Questions) / (@S J)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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Indicate whether the following statements are True or False.
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For calculation of Median in continuous series it is
necessary that class interval of each group is equal.

(True/False)
A SO H RIS @ VAT TR @ oY I8 IMaW D
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The co-efficient of skewness will be zero in a
symmetrical distribution. (True/False)
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Chain Index give the same result as does the fixed have

Index number. (True/False)
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A time series in a collection of reading belonging to
different time period. (True/False)
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Sampling theory is band on probability theory.

(True/False)
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Fill in the blanks.
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If median is 31 and arithmetic mean is 33 the value of
mode will be .............. )
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“Statistics is the science of average.” This statement IS
givenby .......cceeeee
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8. Formula of Karl Pearson’s co-efficient of skewness is
PTet A & fawear Toies &1 g3 g

9. Secular trend cannot be ............ .
el gy Tel 81 dadl 2 |

10. Probabilityisa............ measure.
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